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Part -III
BIOLOGY

Maximum : 60 Scores

Time : 2 Hours
Cool off time : 15 Minutes

( General Instmctwns to Canduiates o - o \
® First 15 minutes is 'Cool off time' common for Botany and Zoology.

~ ® You are not allowed to write your answers nor to dxscuss anythmg with others
during the 'cool off time',

Use the 'cool off time' to get familiar with questi’ons and to plan_your answers.
Read questions careﬁzlly before answering.
All questlons are compulsory and only internal chowe is allowed.

- When you select a question, all the sub-quesnons must be answered from the
game question itself. .

Calculations, figures and graphs should be shown in the answer sheet ltself |

® Malayalam versmp of the questions is also prowded
® Give equations Wherever necessary. - '
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Miximum :30 Scores

PART - A
BOTANY

817

Time : 1 Hour

1. A pendulous spike with
‘unisexual flowers is called

a. Spikelet: © b. Catkin
c.. Spadix d. Cyathium
2. The floral formula of a flower is
T e
e 0 Kpappus 0(5)A(5) G(z)

| Thls flower beiongs to the
| family

Coa Cr_ucxferae
' b. Liliaceae
c. Astera;ceae ‘
d. None of these

8. Note the first pairin a and b
and then complete the second

pair.
A Ca_jgnug - Fabaceae_;'
- Onion o eeeeeeeeesaeenens
b. Caryopsis - Poaceae;
Legume - ...........
4, Versatile anthers and often
feathery stigma are characters
- ofthe family ..............

. a. Malvaceae
b. Poaceae
c. Asteraceae

d. Liliaceae
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6.

- The diagrams «a, b and ¢ below:

show three kinds of chromosomes.
Which of them is acrocentric?
Justify your answer. '

i

Amniocentesis is a biological
technique. Mention its positive
and negative role. - ' 2

a) Copy the diagram below and
label the meristemsa, b and ¢,

b) Which of the meristems is
responsible for anincreasein . -
()

thickness of the plant body?
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. 8. Match the following items in.

columns Aand B.. o
A B
Parenchyma | uniformly thin walled
' and green
‘|  Collenchyma | uniformly thin walled
- Chlorenchyma | uniformly thick walled
Sclerenchyma | irregularly thick walled |

-

9. Copyand oomiaiete the flow

chart. _'

Cork
Cambium

1

derivatives

10. The genetic constitution of all
: the four cells formed after
meiosis differs from each other.
Explain. _ ' @ |
11. Whatis a nucleotide? How does
it differ from a nucleoside? (2)
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12.

. criteria for this classification?

b) Five kingdom classification =

isa
i) Natural system

(i) Artificial system
ii1) Phylogen_etic systém

| iv) None of these

a) Identify the phyllotaxy in
diagrams a, b and c. Justify
your answer. .

13.

b) Match the items in columns
.Tand IL.
I _ 11
Mango Berry
" Tomato | Drupe
Jack fruit | Pome
Apple | Sorosis

a) R.H. Whittaker has classified |
the living organisms into five
kingdoms. What are the main

(3) _

) :(1)

2)

112, a) epdagial algeed
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14. a) Define the following terms :
i) Magnification of '
microscope.
ii) Centrifugation S
iii) Electrophoresis - @
b) The statement that "All
living cells arise from pre-
existing cells" was put forth -
by : |
i) M.J. Schleiden
- ii) Robert Brown
- iii) Rudolf Virchow
‘iv) Robert Hooke - i)

14,

a) MOOYQOWYN o lGERBes

- (ldQlalmo Maddsyds.
i) eeoew:empdaleand
moiiladicasnud
ii) exrmdiglanyeuandd
iii) @moe;e[soeanoomﬂrrﬁ‘

dleiafiepes cxa;ocrosmag]m%
afiomio HEMEILYTY gD

- 817

b)) ‘slloumiag oggld seovsetBgl0

aSlimamedflad agewiie.adom

woavimoead.

i) agpo.em: aflaawad
i) eooenidg {enuroerd

iii) opeawodad afide.alo

iv) gooenidg anyes).

@ .

ey,




Maximum : 30 Scores

PART -B - 817
ZOOLOGY |
: Time : 1 Hour

1. In genetics, the F1 _ _
heterozygous generation is
sormetimes crossed with a
recessive parent. '

a) What is this cross known as?
b) Why such a cross is carried
out? - -

2. Diagrams of two animals 'a’ and
'b’ are given below. 'a' has ostia
and osculum b’ has numerous
different types of zooids hanging
downwards from beneath.
Identlfy them and write thelr
names.

3. Choose the correct answer from
those given below :
- Ahomologous organis.........
a) Similar organs in an
- individual
b) Organs of different species
that are related to each other

" and have originated from a
commeon ancestor.

¢) Different organs of an
- individual.
d) Functionaily similar organs.

.
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Pick the odd man out from a
and b. S

a) Name the'syndrome._ '

b) female

a) crop, gizzard, mesenteron,
anal cercus, rectum
b) Cowper's gland, prostate
- gland, ampullary gland,
Bartholin's gland 1)
Bt cotton is a genetically .
modified plant. To which pest is .
it resistant to ? : R
A syndrome in females_ shows
short stature, webbed neck,
broad chest, lack of secondary
sexual characters.

b) What is the chromosomal :
make up of this syndrome? (2)

Mammals living in polar regions
have more adipose tissue beneath -
their skin. '

a) What is its advantage?
b) What is its main component?* (2)
Draw the symbols used in

pedigree analysis for
representing the following :

a) male

¢} mating

d) consanguineous mating. 2)
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9. DNA recombinant technology
usually uses a vector in one of
its steps. -

a) What is a vector?
b) Give an éxample.

10. - Copy the diagram below and

label the numbered parts of the

alimentary canal of a cockroach.

11. Based on the complexity of
organization, metazoans are
divided into two.

a) Which are they?

b) Give an example of each.
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12.

13.

14.
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The names of animals are given
in brackets. Pick out the
appropriate ones and fill in the
blanks. '

‘a) an example of adaptive |

radiation

‘b)) an e'xam'ple. of convergent

evolution -

¢) an example of evolunonary
- adaptation

(Biston betularia, giraffe,

Darwin's finches, marsupials,

Droso‘phila). 3)

Pick out the appropriate ones

from the terms given within
brackets and put them against
the corresponding phyla.

a) Echinodermata

b) Porifera _

¢) Platyhelminthes

d) Mollusca.

" ) Coelenterata
f) Annelida

(Flame cells, Hirudin,
choanocytes, diploblastic,
ossicles, radula, haemocoel _
contractile vacuoles). (3)
Aneuploidy and euploidy are

 changes in chromosome

numbers. Differentiate the two
terms. Give one example of each. (8)
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15. Observe and copy the table 15.. @moer msg,rmﬂ(ﬂmgm asenficd
given below and fill the blank 1 cnalal algeano esogsmd
columns a, b, c and d with the - agdlaflal Qg)tp&@g,&,_' ag, enf,
correct answers. | ol ol esmeTiicd. o
Genetic | Dominant [ Auto- | Symptom - ' . .
Disord . - mal _ | |l | inlds @DEO BlHUEMo
1sorder ; recessive S0Im. : md. : ﬁl (ﬁ / N P (0% / . .
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